Chapter 4 Section 4.3 Another Form of the Equation Linear Relations
for a Linear Relation
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Learning Goal 4.3 | can write an equation to represent a graph.
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Example Match the graph to the equation.
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Assignment p.188#1-9,11, 13 Quiz Next Day!



Chapter 4 Section 4.3 Another Form of the Equation Linear Relations
for a Linear Relation

Example Which graph on the grid is represented by y = 3x(r 4) Justify. y
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Example Decide what form of the equation would be simplest to use for each graph, then find the equation.
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